Accents (So Far)
AGE 01-03

Nouns and the Persistent Accent:

In the case of most Greek nouns (and adjectives), “persistent accentuation” determines which
syllable will receive the accent. The accent of a noun tries to remain upon the same vowel or
diphthong in all forms of the word, unless forced to change position or accent type (e.g., from
circumflex to acute). There are five general rules:

1. When the accent is on the penult, it stays there.

- If penult is long, the accent is a circumflex with short ultima, acute with long ultima.

e.g. aiwv aicOVES
aicovos alcovwv
aidovi aicoi(v)
alcva alcovas

e.g. dcopov ddopa
dcopou dcopov
dcopw dcopols
dcdopov dddpa

- If penult is short, the accent retains acute throughout all forms.
e.g.  PBiPAiov BiBAla
BiBAiou BiBAicov
RBiBAilw RiBAiots
BiBAiov BiBAla

2. When the accent is on the antepenult:
- The accent can only be acute on the antepenult

- If ultima becomes long (e.g., genitive plural -®v), the accent moves to the penult.

e.g.  Gpxwv APXOVTES
&PXOVTOS APXOVTWV
&pXOVTL &pxovuotl

apxovTta &pxovTas



3. When the accent falls on a monosyllabic nominative singular noun:
- The accent usually moves to the ultima on gen/dat singular and plural.

- Ultima accent is acute over short vowels (e.g. -6c), circumflex over long (e.g. -®v).

e.g.  Tous Todes
Todds TOod&V
Todi Trooi(v)
TOdA& TOdAS
- EXCEPTION:

0 maig, moudog, “child,” renders its genitive plural as maidwv. Exceptions to
the rules of persistent accents such as this will be noted in any lexicon worth
owning.

4. In the 1st and 2nd Declensions:

- If the accent falls on the ultima of polysyllabic word, a circumflex is used on gen/dat
singular and plural

e.g.  QAPETN apeTai
APETTiS APETAIV
APETT) ApPETAlS
APETTV APETAS

e.g. 0ddg odol
odol 0d&dV
o8& 0dols
odbv odovs

5. EXCEPTION:
In the 1st Declension:

- Nouns tend to prefer to have a circumflex on the ultima of the gen plural, regardless
of where the original accent falls.

e.g. Oikn Sikat
Sikns SIKGOV
Sikn Sikaig

diknv dikasg



